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" Feriod iQ‘i‘Lj (Trends )

)  Yalence. e~ - clectrons in +he orbitol farthust
away from the nueleus. These are
the e 's invaluedl in chemicad reactions
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& “Irenal as you mowe down Up IS A
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547"779,{1& as you. mous. Lft 4o right agoss o %
period. is # valunw e increases



2) Atomic Radius (sike of +he atom)

2 the. distanc b/w the nucler of 2
iglenticod, otoms bonoledl +c)9,c+h.er‘

* Trend - down a group, *the radius increasts &

Why 7 As you go down +he group. the elemunts haws
more orbitolds Ceore e-) b/w the nudleus £ the valend
e”, that shield +re valenu e~ from fegling +he
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+he full atfraction of +he pf in +hénu(¢leus SO
they physie s’ro,%~ farthar away modcin%A
the atoms bigger:

X “Trend -Qacross o 7Period , +he radivs decreoses X

Why >
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Shielding remains constant but as you Mmout
across o period thu Hpt agnd #e” increases
Which increosus Hu attractian hlw +hae pt s
valince €7, Malcing gum moudt eLOSLr togethur
anc the otoms 9,Lf- smallur.
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3) 1T lonization EMK%O - energy nuolol
Jo remoud. +he 15T valine, €~ from an
atom.

X down «o grovpP - 13T ionizcedion energly ¢
Qe eleaes "

Why? The largr the ofom is, +he more
shilding. thare (s blw +he nueleus
flrvalinew” e~ ¢ less attrofion +o +he
nueles ), 8o less energy is nuaed
o remoud. e valenel e-

X across o perioel - 157 jonization entrgy ¢
INcreasls

why ?  The opposite reason For down o
grovp



